
Hermite Curves Example

Curve
evaluation:

given P1(2,3,0), P2 (4, 0, 0)
and derivatives P1' (3,2) P2' (3, -4) at the points P1 and P2
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x u( ) P u( )0 0, := x values as function of u

y u( ) P u( )0 1, := y values as function of u
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Bezier Curves Example

Control
points:

P0 1 1 0( ):= P1 1.1 3 0( ):= P2 1.5 2.5 0( ):= P3 1.8 1 0( ):= P4 2 1 0( ):=

n 4:= number of points
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Bezier Example

x0 1:= x1 1.5:= x2 2.5:=

y0 0:= y1 3:= y2 1.5:=

P0 x0 y0 0( ):= P1 x1 y1 0( ):= P2 x2 y2 0( ):=

n 2:= number of points
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